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H=UAES S0l M2 (HEALY) 500,000 540,000 A\40,000
S 300,000
Al 200,000
307 212t01& 500,000 540,000 40,000
< 300,000
Al 200,000
04 QIRHHAIAIH 2 & 500,000 540,000 40,000
O&=LHAIE=0| E=H2 500,000
== 300,000
Al 200,000
Hd=8E SAME HUS =04 60,000 80,000 ~20,000
306 EH= 60,000 80,000 /20,000
01 &= 60,000 80,000 A20,000
O&EF=HS SXNHME HUE =04 60,000
NS et=2et A X4 35,000 380,000 A345,000
306 EH= 35,000 380,000 A345,000
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307 212+01™ 10,000 10,000
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ORNI243| DAt MSS0E 10,000
SN SINF SN ESE) B 210,000 290,000 /80,000
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01 &gz 210,000 290,000 280,000
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201 L2 45,000 50,000 A5,000
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K-8tXI0ts & dXEA T2 29 50,000 0 50,000
306 E¢= 50,000 50,000
01 &= 50,000 50,000
OK-8tXI0tS &2 dAEA 2208 23 50,000
HSEX FAHL 24 At 100,000 100,000
306 == 100,000 100,000
01 9= 100,000 100,000
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